mhnl(, T ISR e ok e R S 0 A e B T
— o ﬂ
NN ™
w3273423443242434 |
<
(W OINO|lo| o
S |ln|a|m|w|mn|o|n|o|la|lodg|a|o|slin|jvn||22]F I DF] 5| 7]+ FF
= IR I I R AR I I B A R L A A A N
wy
=
S |g|n|cm|a|moon|d|ajonfdon|aa|s (NSNS A| S N[N N[0 @
Z
<
_ old|lN|mFvw||IN|o||[o]|ldHA| N M| F|[bm|in|lo[on] O
o N R A R R N I N S R I R Y I S B E R T = B e 7 @3
99(999%99911111111111111“”.“.uﬂlll

61
62
63
64
65
66
67
68
69
70
71
72
73
74
75
76
77
78
79
80
81
82
83
84
85
8
87
88
89
90

TSUTF MODEL TET EXAM-2022
PAPER-I- ANSWER KEY

SN ¥ o|[o|o|H|N|[m| 0o 17
3333333334444444”%@%&&3456789@
Wwiwn|wn n|wm

B i wn| W

II[

4143332243122142224324 N
-~ N

T | e

Il’

n
=

13.
14
16
9
0

1

SL.NO. | ANSWER |SL.NO.| ANSWER | SL.NO. | ANSWER| SL.No.

L
[
L
[ 17
IL18
[ 2
[ 21
| 22
| 23
| 24
| 25
L 2
| 27
|
| 29
| 30





{ "type": "Document", "isBackSide": false }

